[image: Obsah obrázku text, křížovka, ovoce

Popis byl vytvořen automaticky]

[image: Obsah obrázku text

Popis byl vytvořen automaticky]
[image: ]
image1.png




image2.png
Reseni: a) 1.Jf5#, 1.Ixgd #
) 1.£xe8V KI7 2.Dxd7 #, 1.fxe8]+ Kg8 2.0f6+ K7 3.De8+ Kg7 4.Dg8 #, 1.... KI7 2.Vxd7+
Ke6 3.Vxh7+ KeS 4.VeT #, 1.... Kf8 2.Vxd7 Se5 3.Jg7 #
) 1.fxe8] De5 2.Jxgd #, 1.... Dd4 JfS #, 1.fxe8D DI8 2.Dxf8+ Sg7 3.Jxgd #
d) 1.fxe8S(1) KIB 2.DI7 #, 1.fxe8+ Kf8 2.Vfl+ Sf6 3.Vixf6+ Kxe§ 4.Df7 #
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w0 Resen:

& =3 (c3, h8D, hsS)
a=4
&=13
B-14
=5
2=6
Celkem: 45





